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Instructions to the candldates

. FETE-THHA Oﬁmﬁwaﬁﬁmaﬁaﬁ% I

This question paper consists of six questions and all questions are compulsory.

2. TH SR WA H QUM E | WA S AT IR R, S 100 3 1R | I

g’ W AT (General Smdles)wmsﬁwqa RO T H 3

TS 100 3] ] R | I AT bl TRt S¥-TA 200 3 BT G | FEhl Bt
35 B | v

This question paper is having two parts. Part *A’ is of General Environment

which carries 100 marks. Part ‘B’ is of General Studies which contains basic

_knowledge of computer skills and arithmetical skills and carries 100 marks. This

question paper is of total 200 marks including both the parts. Allotted time for
this is of 3 hours.
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3. WO R % 37k 3T G SRR 2 |

Marks for each question have been indicated on the right hand margin,

4. IRl vreg HiwT € S R, SEehT qrei e |

Wherever word limit has been given, it must be followed to.

5. TH-9F % ATER ¥ T % IR HAEER 2 | T 1 F Flm wmt % swm
AT T F FHATTER ford 7o 37 st a1y Wi 3 S ford |

Question should be answered exactly in the order same as mentioned in the
.question paper. Answer to the various parts of the same question should be
written together compulsorily and no answer of the other quebtlon should be
inserted between them.

6. TUE-THQE | W w3 A § wd ww w H 3 5o E, B e
rfamd B | e 1 fed m fdet <1 arem wdianRid gry ovifia 2 |

The paper has 2 part. In part *A” and in part ‘B’ there are 3 questions. The
examinees are required to follow the instructions given in thr= question.

T -H 7x4=28
Part— A

. (A) St9-Tsd =l afenfyd HIiRe |

Define Biosphere.

(B) TEHTAE ?

What is Humus ?

(C) SR % 1S o ged wamw gefterg B |

List any three important characteristics of a population.

(D) ST fFRmTR ?

What is [0% law ?
M-SFS-1-2017 (20)



(E)

(F)

(G)

2. (A

(B)

(©)

(D)

(E)

A

e ) aReTR SR |

Define hotspot.

e e < e A 3 AR |

Name three categories of threatenned species.

iR garan FT 2 7

What is Ecological efficiency ?

R s o A A R 8

Write differences between Abiotic and Biotic component of Ecosystem.

QiR @7 F S W@ dul | oy foueh foRed, e are
AV g | 8

Write short note on Ecosystem Goods and Services that human benefit
from.

e B SrifeRaR e W feuft fafe | 8

Comment on Bipsphere Reserve in India.

Y EE gfg & aaFsy | . : 8
Explain “Zero F;opulation Growth Rate”,

SJu-fifwa =1 2 7 J9-Rifdya wew g IR SH @ TR H
geTfiv o feapoft fofadt | 8

What is Biodiversity ? Comment on people and Government participation
in Biodiversity conservation.
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3. (A) FF-SE WU FrHE, 1972 | Royolt ferRad qen 3w &g safmn w0 =
T 3 | : 16

Comment on the *Wildlife Protection Act™. What can an individual do ?

(B) o wrifRuferhl o = 2 ?aqmﬁ@rﬁ‘fﬁéa%waaié ? 16

What is the forest ecosystem ? What are the threats to the forest ecosystem ?

M-SFS-1-2017 (20)

N

'



5
. M- '
. Part-B
1. Fafafes vE & s i : o - Tx4=28:

Answer the following questions :
(A) TELEH. 1 qU Am Hard §U3E T |

Give the full na'm:a of http and explain it.

(B) TR T ¥ e aavas el A |

Give the names of four things which are required to connect to the internet.

(C) -0 USH % < W & m foRaw wa 3w wmawia €, Tmensd |
' Give the names of two parts of an e-mail address and explain what they
correspond to.

(D) f&u mTu Fieme o wrear fFemfer -
Find the meari of the following data
X 12 |16 | 28 7 22

f 5 4 2 8 6

(E) 76388 A, Bael CH 59 IR ifPw Re S 1w OftT § SHur 3:7: 2
|

Divide ¥ 6,838 among A, B and'C so that the amount recéived by them is in
theratioof3:7:2,

(F) @W.@Wwwﬁ,smﬁw-m%l% 12.5% SET &3
|G 30% T AT 2 | SFT Yo <ht TUHT 1T |

A trader fixes the price of a radio at ¥ 1,560. He earns a profit of 30% after
allowing 12.5% discount. Calculate cost price.
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(G) a%‘%mwﬁﬁfq:

P(A) = 2 3 P(B) = P(C)*— THHY: @7 WO el "l A, B, C @i

mﬁqﬁf &
E_xplaiin with logic :
[ :
P(A) = 2 , P(B) = P(C) = are not the probabilities of three mutually

exclusive events A, B and C.

2, Fraffga 3 A feel ute st & o AR - " 5x8=40
" Answer any five of the following questions :

(A) m%ﬁﬁwmaﬁml

Explain the various types of viruses,

(B) Rﬁ%ﬁ?ﬂﬂ%mwﬁ}l

Explain the various types of internet connection.

»

(C) Bt EIHF 94 % o1 & THgsy |

Explain about Domain Names.

(D) MW@WWWA,BWOﬁWﬁ%WWW

ﬁﬁmwﬁqaﬁﬁuﬁﬁﬁ 2 3 4% mfé%mﬁmaﬁsa
FTA BT YIS B A U3 % g 16T I <t Tifrewar 3 A |

A problem in statistics is given to three students A, B and C whose chances

111
of solving are 5 733 - respectively. If they all try to solve the problem, what

is the probability that the problem will be solved ?
M-SFS-1-2017 (20)
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(E) ¢ T 6@ & 80% W 32 Sie W i a8} wem g1, & 98 g e e
THiTT |

If 32 is added to 80% of a number, the result is the number itself, Find
number,

(F) 158@1@?%%15%6@5@?78@1@@%161% 1an?aq
8 TSI ! 3iaa ra hifig | -

The average of |5 numbers is 15 and the total of the first 7 numbers is 161,
find out the average of the last 8 numbers.

(G) Terelt wafin =1 2 ot =1 wehalyg =™ %51250%ammwm?500
8 | YT aeT =T X 3T SR |

The compound interest on certain sum is ¥ 512,50 for two years and the
sunple interest at the same rate and for the same time is ¥ 500. Find the
principal amount and the rate of interest,

3. P R A e % se AR 2% 162132

Answer any two of the following questions :

(A) T T 30 W ST 839 fsrer Fofte W 3= § 1 I TR A @ o1

T e A9 TR F 50 0 N 79 yohr wliean @ F6 5@ 10%
HHIYA % o | gH1 HHIH et 39 2 3,000 e € | waEe w9
reret b Tersha Yoo qen S s 7% =1 563 o ST T ?

I
An agent sells 30 bags of rice at 83‘% sales commission. He purchases

50 bags of wheat from the amount remained after deducting his commission
so that a purchase commission comes out to be 10%. He receives ¥ 3,000 in
all as commission. What was the sale price of rice per bag and purchase
price of wheat per bag ?- '

M-SFS-1-2017 (20) E '~ PT.O.



8

- ’ ﬂ
B) Trfafaa Soft ¥ wor me @ wre feed siTa e :
IWABA) 10|20 3040 50 | 60| 70 | 80
i frgEr: | 15|30 |53 | 75| 100 | 110 | 115 | 125
Find the mean deviation from arithmetic mean for following series :
Age(below) :| 10 {20 |30 |40 50 | 60 | 70 | 80
No.of persons : | 15 | 30 | 53 | 75 | 100 | 110 [ 115 [ 125
(C) W T8 HRE 9 Geed o e, TRaT Td YhR ! THeE |
Explain the objectives, procedure and types of government and corporate
web portals.
R4
l{
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